PRINCIPLES OF BUSINESS

SOCIAL ACCOUNTING AND INTERNATIONAL TRADE

The government through its various departments collects figures from a number of sources and prepares accounts such as the national income, balance of payments, cost of living index, net national product and gross domestic product.

GROSS DOMESTIC PRODUCT (G.D.P)

Gross domestic product is the total money value of the goods and services it produces during a one-year period. This figure does not look at goods and services produced by firms abroad that are owned by local entities or the government. It looks at only what is actually produced in the country.

GROSS NATIONAL PRODUCT (G.N.P)

Gross national product takes into account not only what is produced locally but also what is produced by firms abroad that are owned by local individuals and the government.

This income from abroad is called Net Factor Income from abroad. This figure can either be positive or negative because foreigners remit income to their home country and in so doing more income leaves the country than that which comes in.

NATIONAL INCOME (N.I) OR NET NATIONAL PRODUCT (N.N.P)

The difference between NI and GDP is depreciation. Depreciation is the reduction in the value of an asset over time. However it is difficult to assess depreciation hence GNP figures are used instead of NI.






PRODUCERS


Payments of incomes





Expenditure on G&S


Salaries and wages





CONSUMERS

CALCULATION OF NATIONAL INCOME.

The NI may be calculated in any of three ways.

· Income method

· Expenditure method

· Output method

Whichever method is used to calculate the NI should result in the same figure because the same thing is being measured which is the total production of goods and services for the year under consideration.

Income can be described as a circular flow because what is expenditure to one group is income for another.

Calculating the National Income by Income method.

Formula:

Income from

Employment + Profits + Rents + Net Factor Income from abroad = GNP – Depreciation = NI

This method involves taking into account all the incomes earned by individuals and firms within a country. Individuals may earn wages and salaries by providing labour. Both individuals may earn profit from investments in business as well as rent from property owned. Income may be remitted to the country from productive concerns abroad. These figures are obtained from income tax return but some figures are estimated such as incomes from self-employed persons hence NI figures are never truly accurate. There are two basic adjustments that have to be made to these figures to avoid double counting.

1. Transfer incomes – these are incomes that were earned in previous years but are now distributed to persons. These may take the form of pensions and grants to students. Since these incomes are not the result of present production and have been included in previous NI figures, to include them in present NI figures would be a form of double counting. Hence they must be deducted from the year’s national income under consideration.

2. Government service – service rendered by government institutions for example health, education and transportation are similar to the services rendered by the private sector. As a result of this they are included in the national income at thru cost that it takes to provide these services to the public.

Calculating National Income by Expenditure method.

This method involves totaling the amount spent on investment and consumer goods and services produced during the course of the year.

Formula:

Investment Expenditure at market price + Consumption expenditure at market price +Subsidies - Indirect Taxes + Net Factor Income from abroad = GNP – Depreciation = NI
The figures used to calculate NI by the expenditure method are obtained from

· The census of distribution, which records the value of shop sales.

· The census of production, which records the value of investment goods produced and addition to stock.

Calculating the National Income By the output method.

Formula:

Total domestic product = Net Factor Income from abroad = GNP – Depreciation = NI
National output is the total of all goods and services produced in the country whether by government or private individuals within the year.

This figure is arrived at by totaling the value added by each firm to a good or service at each stage of production or by taking the final cost of the product.

Difficulties in calculating National Income

1. The inclusion or exclusion of certain items. – Items such as unpaid services, voluntary services, services of housewives, the value of farm products consumed within the family circle, payments in kind and owner occupied houses pose a problem. In the measurement of National Income only those goods and services for which payment is made are included.

2. The danger of double counting – Because National Income is a circular flow sometime certain products are measured twice. It is also very difficult to calculate the value of government services such as defence, internal security, justice, health and education. Generally only the activities which give rise to final consumption are included in National Income calculations.

3. The problem of quality – Income accounts are measured at current market price. They do not reflect the quality of goods and services. An improvement in the quality of goods and services means an improvement in the quality of life.

4. Availability and reliability of data – Inadequate information is another difficulty in the compilation of national income estimates. Different sources of statistical data and the nature and accuracy of data used make the calculation of national income estimates difficult.

The uses of National Income

· Give an indication of the standard of living in a country.

· Compare the standard of living of different countries.

· Give an indication of the changes in the distribution of income.

· Determine the rate at which National Income is growing.

STANDARD OF LIVING

Standard of living looks at the well-being or the quality of life of a people and is usually measured by examining the amount and the state of the goods and services consumed by the people.

NATIONAL INCOME AND STANDARD OF LIVING

NI is not a good measure of the standard of living because:

· The NI is a monetary figure and is measured in terms in quantity while SOL takes into consideration quality.

· SOL is concerned with consumer goods and services while NI considers both consumer and producer goods.

· An increase in NI may be as a result of a positive balance of payments and has nothing to do with the quality of consumer goods.

· An increase in NI may be as a result of inflation. Inflation increases NI in monetary term however this reduces the standard of living.

· NI figures do not indicate the type of life that the people enjoy. An increase in NI may be as a result of the people working longer hours in poor working conditions.

Economic factors indicating the standard of living.

· Average personal disposable income – This will be able to give us an idea of how much persons have to spend and thus what they are able to buy and in what quantities.

· Distribution of NI – Looks at hoe the total national income is divide among the individuals and households in the country.

Non-economic factors indicating the standard of living.

· The quality and quantity of available health and education facilities

· The number of doctors and nurses per 1000 of the population

· The life expectancy of the people

· The protein in take of the people

· The degree of leisure time enjoyed by the people.

· The level of crime and criminal activities in the country

Factors determining a countries material standard of living

Internal factors

· The total original natural resources that it has e.g. oil

· The nature of the people in particular its labour force – the number of workers how willing and hard working are they.

· The capital equipment available - This can enhance the productivity of the people.

· How the countries resources are organized - If the factors of production are organized efficiently then production output is maximized

· Technology – If capital expenditure is devoted to research and technology and invention then the benefits from these can be used to develop the productive capacity of the country.

· Political stability – A stable government means that foreign investors will have confidence in the economy and investments in long term projects will be guaranteed.

External factors
· Foreign loans and investment – Net income from foreign investment may result in an increase in welfare for countries involved.

· Terms of trade – Better terms of trade can only mean an increase in welfare of a country.

· Gifts from abroad – Countries that receive gifts from other countries for the purpose of economic development or defense can also improve their standard of living.

ECONOMIC GROWTH AND DEVELOPMENT

Economic growth is defined as an overall expansion of the economy and refers to as well a real increase in GNP after the effects of inflation have been taken into consideration. It examines quantitative increases in a country’s production and therefore will be concerned with the numerical increases in the national income. There can also be negative growth, which is the failure of a country to expand its production.

National Income of different years are compared to determine if there is economic growth.

Economic development is qualitative and is more concerned with the pattern of economic change. It looks at the ability of a country to exploit its natural resources to their fullest advantage. Therefore is covers areas ranging from government institutions, educational facilities, financial institutions, telecommunication facilities, to transport and storage. It looks at the labour force, the number of workers their skills and abilities.

In third world countries development sometimes take place unevenly giving rise to a feature called dualism. Dualism is the division of the economy into two different sectors, one being technologically advanced and the other being technologically backward.

Features of underdevelopment.

· Poor growth rate of income due to poor economic performance or increasing population growth

· High level of unemployment

· Large proportions of the population engaged in agriculture and the terms of trade for these primary products worsen year after year.

· High growth rate of the population

· Low standard of living

· Shorter life expectancy due to poor nutrition and medical care.

· Poor educational opportunities.

SAVINGS AND INVESTMENT

The part of the income not spent is referred to as savings. There are basically three types of savings:

· Personal savings – done by individuals and households

· Business savings – done by private firms

· Government savings – This is usually in the form of budget surplus by central government and profits from public corporations.

Investment is spending by business over a given period on the production of capital goods e.g. factories, houses, machinery etc. or on net additions to stock such as raw material and consumer goods in store. When individuals save money in the bank or buy shares this is not considered investment in economic terms.
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